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HCNA-VC (Video Conference) 

Exam A 

QUESTION 1 

How many MCU resources maximumly does Multi-resource management center can manage? 

A. 128 

B. 256 

C. 64 

D. 512 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 2 

The function of Switch Centre is ( ) 
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A. External ports provide third-party telephone numbers  

B. provide address resolution, access control, bandwidth management and regional management functions  

C. monitoring node registration and call status   

D. Collaborative Resource Manager to achieve special code calls and site call function 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 3 

What is the range that the human ear can recognize the sound frequency? 

A. 10~10K 

B. 20~20K 

C. 30-30K 

D. 40~40K 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 4 

225 protocol can be used for conference control 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 5 

IP relative to E1, stable bandwidth, QOS and security, data confidentiality, better security. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 6 

AAC-LD ( ) kHz sampling support dual-channel high-fidelity CD quality 

A. 7 

B. 16 

C. 48 

D. 64 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 7 

HD terminal HD is not the time to join the default output OUT1? ( ) 

A. the mainstream of home terminal 

B. the presentation of home terminal 

C. the remote mainstream 

D. the remote presentation 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 8 

Which of the following several types are included in H323 node? (choose 3 answers) 

A. terminal 
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B. MCU 

C. the gateway 

D. the routing 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 9 

What are RP multifunctional intelligence installation modes? ( ) (select 3 answers) 

A. Ceiling mode  

B. Fixed Mode  

C. Move mode  

D. on the wall mode 

Correct Answer: BCD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 10 
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After the conference, if the conference is still in a work from P will state the venue, the venue can call a specific number of independent events join the conference, 

the particular number is ( ) 

A. Streaming service special code 

B. Conference special code 

C. PSTN special code 

D. Chairman of the special code 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 11 

What are the following responsible for system streaming video and audio signal processing? 

A. HDPA 

B. POEA 

C. GWBA 

D. VOBA 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 12 

Can not be extended after the appointment conference. 

A. True 

B. False 

Correct Answer: B 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 13 

Which mode is used to configure the following open or close the image upside down function of HD camera? ( ) 

A. IR 

B. VIDEO 

C. FLIP 

D. MCU 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 14 

By default, GE1 network interface works in what mode? 

A. Backup mode 

B. Capture mode 

C. Dynamic switching 

D. Fence model 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 15 
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Broadcast television is one-way communication, can not communicate with each other, and two-way video conferencing can spread, "face to face" 

communication. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 16 

MCU main control board GCCX primarily responsible for video, audio, signaling and other information exchange process, and execute control commands 

business management center. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 17 

MCU can not register to SwitchCentre or Resource Manager case may be? (select 3 answers)  

A. Failure terminal  

B. network failure  

C. Registration parameters are inconsistent  

D. segment limit 

Correct Answer: BCD 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 18 

Network packet loss is high, Multi Resource Management Center will alarm. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 19 

MCU8650C height ( ) U. 
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A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 20 

Responsible for planning the following access E C} number is? 

A. HDPA 

B. POEA 

C. GWBA 

D. VOBA 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 21 

Conference access number is made up of ( ) and ( ). (Select 2 answers) 

A. Sub-conference number 

B. MCU Code 

C. Conference special code 

D. Cascade special code 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 22 

Which of the following can be included in business features of multipoint resource management center? (Choose 3 answers) 

A. centralized management of resources 

B. address resolution 
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C. the venue centralized management 

D. conference control 

Correct Answer: ACD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 23 

I frame is a complete picture, and P-frames and B-frames is recorded with respect to change in I frames. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 24 

Which layer does the HD terminal video communications system located in? 

A. operational support layer  

B. Network control layer 

C. Media exchange layer  

D. User Access Layer 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 25 
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Large capacity multipoint generally cross-regional, level larger conferences, generally require multiple cascaded MCU to ensure adequate capacity, the meeting 

was more superior to the lower convey style. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 26 

How many process does the IP address call mainly includes?  (select 2 answers) 

A. RPQ 

B. setup 

C. RCF 

D. connected 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 27 

Multifunction Telepresence main scenario( ) 

A. Ordinary Meeting conference 

B. Senior Management Office 

C. Professional conference rooms 
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Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 28 

Which of the following types of equipment are high terminal accessories( ) (Select 3 answers)  

A. array microphone  

B. HD camera  

C. Remote control  

D. Switch 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 29 

H.323 gateway is between the circuit switched network and a packet switched network. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 30 

HD Codec of the intelligence conference room supports 3-way high-definition video input and output. 

A. True 

B. False 

www.vceplus.com - VCE Exam Simulator - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - PDF Online

https://vceplus.com
https://vceplus.com


Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 31 

.According to the different function modes of intellectual can divide (select 2 answers) 

A. Immersive intelligence 

B. multi-screen intelligence 

C. multifunction intelligence 

D. Single-screen intelligence 

Correct Answer: AC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 32 

The resolution of 1080I is interlaced scanning of 1920*1080. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 33 

50/60 fields are a middle way of relatively low transmission load, which give consideration to 60 frames smooth and 30 frames. 

A. True 
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B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 34 

H.323 standard belongs to ( ) network 

A. optical switching 

B. packet switching 

C. link exchange 

D. circuit switching 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 35 

When two MCU cascade, scheduling a meeting, besides, superior and subordinate MCU as a virtual venue respectively join the conference. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 36 
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Business management system is used for centralized management of video resources, responsible for reservation and scheduling of meetings, including network 

control center, conference reservation system ( ). 

A. the billing system 

B. Multi-Resource Management Center  

C. GK 

D. all of the above 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 37 

Which of the following is the highest video format supported currently by Video conference system? 

A. 4CIF 

B. 720P 

C. 1080P 

D. 2016P 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 38 

Which of the following is the networking format of intelligence video network? (please choose 3 answers) 

A. IP 

B. E1 

C. 4E1 

D. ADSL 
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Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 39 

IP addresses call directly which don't need GK. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 40 

Which organization is it that set the standard H.323? 

A. ITU_T 

B. IEEE 

C. NSI 

D. ISO 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 41 

Currently, what are the main types of MCU? (Please choose 3 answers) 
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A. MCU8650 

B. MCU8650C 

C. MCU8660 

D. portable MCU 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 42 

What is the resolution of 1080P? 

A. 1080*720 progressive scanning 

B. 1080*720 interlaced scanning 

C. 1920*1080 progressive scanning 

D. 1920*1080 interlaced scanning 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 43 

Which of the following is the main control board of MCU8660? 

A. GCCX 

B. GCCA 

C. GCCB 

D. GCCC 

Correct Answer: C 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 44 

The sub-conferences number is made up of five digits, and values must be in the Sub-conferences number range. 
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A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 45 

What function the Intelligence Host contains? (Please Choose 3 Answers) 

A. Video Matrix 

B. Switch 

C. US-SCM 

D. Audio Processor 

Correct Answer: ACD 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 46 

Multipoint resources management center does not support intelligence system access. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 47 

1080i i respectively show ( ) 

A. progressive 

B. interlacing 

C. By vertical 

D. Every vertical 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 48 

H.323 system is IP line which is based on packet switching and no QOS guarantee. 

A. True 

B. False 

Correct Answer: A 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 49 

The venue terminal can through calling the ( ) to join the meeting  

A. the Sub-conferences number 

B. conference access number 

C. the service area code 

D. Chairman special code 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 50 

For GCCB board, which of the following is true? (please choose 3 answers) 

A. GCCB board is indispensable veneer of MCU8660 

B. can be installed in 0, 1 slot 

C. the main/standby working way 

D. can add function gusset plate (at most four) to achieve business board function 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 51 

Which of the following ways can check terminal input whether normal or not? (Please select 2 answers) 
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A. the audio self-loop 

B. test voice 

C. the volume indicator 

D. image test 

Correct Answer: AC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 52 

Which of the following is the main control board of MCU8650C? 

A. GCCX 

B. GCCA 

C. GCCB 

D. GCCC 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 53 

Each system must have operating billing system. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 54 

In double-flow meeting, you can transmit two-way video source images of home terminal at the same time or see two-way video source image of remote at the 

same time. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 55 

What's the 4CIF resolution ratio? 

A. 352 x 288 

B. 704 x 576 

C. 1280 x 720 

D. 1920 x 1080 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 56 

If it is found that terminal output images overturn, it can be revised through the "FLIP" DIP of camera back plate. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 57 

Which of the following is true? (Please choose 3 answers) 

A. SMC 2.0 change from C/S structure to B/S architecture, provide Web operating interface, and support Internet explorer browser. 

B. SMC 2.0 supports multi-user management, manage the user rights according to organization structure, support configuration of users’ right. 

C. SMC 2.0 provides SOAP interface, for the third party development, support functions of meeting to make an appointment. 

D. SMC 2.0 cannot fuse with Microsoft Lynch. 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 58 

The resolution of DVD is ( ) 

A. 720*576 

B. 176*144 

C. 704*576 

D. 720*480 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 59 

Which does belong to HD resolution? ( ) (select two answers) 

A. CIF 

B. 4CIF 
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C. 720P 

D. 1080P 

Correct Answer: CD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 60 

What are the telepresence characteristics (choose 3 answers) 

A. choose to reach 1080P 

B. the virtual reality, all-view experience 

C. life-size, eye to eyeD. high rate 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 61 

The resolution of HD terminal video output image can be set ( ) (choose 3 answers) 

A. DVD 

B. 720P 

C. 1080P 

D. 1080I 

Correct Answer: BCD 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 62 

Which of the following MCU only supports IP? 

A. MCU8650 

B. MCU8650C 

C. MCU8660 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 63 

Which of the following is not video input port of HD terminal? 

A. SD IN 

B. HD IN 

C. S-VIDEO 

D. AUDIO IN 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 64 

MCU8650C is mainly for ( ) client (choose 2 answers)  

A. Industry  

B. Private Network  

C. corporate customers  

D. operators 

Correct Answer: AC 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 65 

Which layer is multipoint resources management center located in the video system? 

A. operation support layer 

B. the user access layer 

C. Media exchange layer  

D. Network control layer 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 66 

1080P image quality is equal to ( ). 

A. 9CIF 

B. 16CIF 

C. 20CIF 

D. 24CIF 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 67 

RRJ is registration confirmation signaling of the terminal registered GK. 
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A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 68 

What is the main function of the GateWay? 

A. Protocol and Date Rate conversion 

B. Node Manager 

C. Media Encoder 

D. Conference Control 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 69 

TP3118 support meeting of up to 18 people each side. 

A. True B. 

False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 70 
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On the UDP application layer, what can H323 protocols be divided into? (Choose 3 answers) 

A. terminal control category 
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B. the media control category 

C. data application category 

D. error checking category 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 71 

In the network diagram of video products, which layer is RM located in? 

A. the user access layer 

B. media exchange layer  

C. network control layer 

D. operation support layer 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 72 

How many higher MCU the lower MCU can use? 

A. 4 

B. 3 

C. 2 

D. 1 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 73 

Which of the following is not included in TP3106? 

A. three cameras B. 

Relay  

C. wireless router  

D. Time series Power 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 74 

E1 line is special, stable and reliable performance, high safety, low price, simple wiring. 

A. True 

B. False 

Correct Answer: B 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 75 

All boards have FE, GE0, GE1 three kinds of network port. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 76 What 

does LFQ mean? 

A. node registration request  

B. node exit request  

C. node localization RequestD. node cancellation request 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 77 

HD camera can modify resolution through FLIP mode. 

A. True 

B. False 

Correct Answer: B 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 78 

MCU on the need to join a multi-screen combinations each terminal decodes the image, and then set the encoded into one way image, send to all viewing 

multiscreen terminals. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 79 

To media exchange layer, which of the following statement is correct? (Please choose 2 answers) 

A. It takes charge of Video switching, Audio mixing, Data processing, Terminal Access, Signaling exchange and so on. 

B. It is made up by the MCU and voice gateways. 

C. It achieves uses' interaction between the video systems. 

D. It is responsible for call processing, signal processing and QoS policy control and so on. 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 80 

GCCA is the master control board of the MCU8650 

A. True 
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B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 81 

When the gatekeeper sends the confirmatory response of the gateway registration request to the accepting terminal, the sent signaling is ( ). 

A. GCF 

B. RCF 

C. ACF 

D. UCF 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 82 

Film outputs from the last one interface of terminal acquiescently. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 83 
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How many service slots the MCU8660 supported? 

A. 0 

B. 2 

C. 8  

D. 10 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 84 

About GPUS, which of the following statement is correct? (Please choose 3 answers) 

A. It is responsible for multi-picture processing system. 

B. It is responsible for media data rate processing. 

C. Configuring 2 can achieve business backup of board. 

D. Bear part of the control board role 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 85 

What three kinds of display formats of HD? (Please choose 3 answers) 

A. 720P B. 

1080 i 

C. 1080P 

D. 480P 

Correct Answer: ABC 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 86 

In H.323 systems, which of the following services are must be provided by GK? (Please Choose 3 answers) 

A. Address translation 

B. Access Control 

C. Protocol conversion 

D. Regional Management 

Correct Answer: ABD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 87 

The Video Systerm is a new generation of interactive multimedia communication system, which is set ( ), ( ) and ( ) at one unit. It is a kind of value added service 

based on the communications network. (Please choose 3 answers) 

A. Video Communication 

B. Audio Communications 

C. Data Communication 

D. Media Communications 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 88 
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Which protocol can achieve the media control? 

A. H.225 

B. H.239 

C. H.245 

D. H.281 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 89 

Which is not the function of SM ?( Choose 2 answers ) 

A. Address Resolution 

B. Regional Management 

C. Third Party Telephone Number Interface 

D. Special code 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 90 

Which format can be used to configure resolution by HD camera? 

A. IR 

B. VIDEO 

C. FLIP 

D. MCU 
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Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 91 

SiteCall is a conference call way that Huawei Video System supported, it can let the users define and hold a multipoint meeting on ( ), just like a call. 

A. Platform side 

B. Terminal side 

C. MCU 

D. Multi Resource Management Center 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 92 

Which processes are be contained in IP Address Calling? (Please choose 2 answers) 

A. PRQ 

B. setup 

C. RCF 

D. connected 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 93 

After the intelligence venue joined into multipoint conference, what 2 kinds of basic conference control functions it will have? (Please choose 2 answers) 
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A. Roll Call 

B. Broadcast venue 

C. Watch the venue 

D. Chairman application 

Correct Answer: CD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 94 

SMC 2.0 includes License Management. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 95 

About the Real-time Transport Protocol, which is used to transmit the video and audio stream? 

A. H.225 

B. H.245 

C. H.239 

D. RTP/RTCP 

Correct Answer: D 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 96 

What is the resolution of 1080I? 

A. 1080*720 progressive scanning 

B. 1080*720 interlaced scanning 

C. 1920*1080 progressive scanning 

D. 1920*1080 interlaced scanning 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 97 

What are be contained in multiple conference convened way that multi resource management center supported? 

A. SiteCall 

B. More resources management center directly convened 

C. Automatic Appointment 

D. Automatically extended 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 98 

The main index of the video is resolution and frame rate. 

A. True B. 

False 
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Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 99 

Which is the media stream processing center of Video System? 

A. MCU 
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B. Network Control Center 

C. RM 

D. vBill 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 100 

How many master slot the MCU8600 supports? 

A. 1 

B. 2 
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C. 3 

D. 4 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 101 

GCCA Board only can be installed in 1 slot of MCU8650. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 102 

RTP protocol can be used to transmit video and audio streams. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 103 

What is the full name of MCU? 
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A. Muti-point control unit 

B. Micro Control Unit 

C. Main Computational Unit 

D. Memory Control Unit 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 104 

HD terminal supports WEB page landing. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 105 

Understanding H.323 protocol can help to understand Huawei video system's ( ) (Select two answers)  

A. tuning process  

B. hardware architecture  

C. Software Features D. Fault Locator ideas 

Correct Answer: AD 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 106 

Which of the following can realize face to face communication effect? 

A. Phone  

B. Broadcast  

C. TV  

D. Video Conferencing 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 107 

GPUA plate is business processing board, which cannot plays a role of main control board. By configuring multiple business board, you can achieve business 

board’s backup services function. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 108 

MCU8660 size is ( ) U, wherein the system Single-Board representing the height ( ) U. 

A. 20, 9 

B. 21, 9 

C. 21, 10 

D. 20, 10 

Correct Answer: B 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 109 

The nature of MCU call terminal is peer-to-peer call process. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 110 

What the main control plates separately are for Cassette box, box and MCU8660? 

A. GCCC GCCA GCCB 

B. GCCA GCCA GCCC 

C. GCCB GCCA GCCB 

D. GCCC GCCB GCCB 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 111 

IMS integration of video solutions do not include Telepresence systems. 

A. True 

B. False 
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Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 112 

What is set on multi-point resource management center that Venue partition threshold refers to? 

A. the number of partition threshold value 

B. the threshold value of conference places' number  

C. the threshold value of conference's number 

D. management MCU threshold 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 113 

Which port's IP address does default input when logging into MCU WEB page? 

A. FE 

B. RS232 

C. GE0 

D. GE1 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 114 

About audio in and out MAIN port and AUX port, which statement is true ( ) (select two answers) 
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A. the MAIN port and AUX port don't have echo canceller function 

B. the Main interface has echo canceller function, but cannot hear your own voice 

C. Aux interface does not have echo cancellation feature, but you can hear your own voice  

D. Both interfaces have echo cancellation feature body 

Correct Answer: BC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 115 

What's the Immersive single screen Telepresence main scenario? 

A. Ordinary Meeting Room  

B. Senior Management Office 

C. professional meeting rooms 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 116 

MCU8650 size is ( ) U ( )inch. 

A. 5, 19 

B. 4, 19 

C. 4, 22 

D. 5, 22 

Correct Answer: A 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 117 

What is the main purpose of H.245 protocol? (Choose two answers) 

A. real-time transmission 

B. ability to negotiate 

C. video coding 

D. media control 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 118 

According to the called number, when GK analytic called nodes belonging to neighbor GK region's nodes, then how many ARQ message will appear in this 

process? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 119 

Large capacity multipoint conference mode, do not ask for high interactivity. 

A. True 

B. False 
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Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 120 

When Multi-point Resource Management Center in multi-user mode, it can assign different users different permissions, only users with the appropriate 

permissions to perform the appropriate action. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 121 

When HD terminal HD OUT2 joins, what will the default output be? 

A. the mainstream of home terminal 

B. the presentation of home terminal 

C. the remote mainstream 

D. the remote presentation 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 122 

Bulk multipoint conference mode, has high requirement on interactivity. 
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A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 123 

For GCCA board, which of the following statement is correct? (Choose three answers)  

A. GCCA board is the necessary veneer of MCU8650  

B. can only be installed in slot 1 

C. there is a master/standby working mode  

D. can achieve business functionality by adding features gusset plates (up to 4) 

Correct Answer: ABD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 124 

Multi-point Resource Management Center locates in video systems's Operation support layer. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 125 
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In TP3106, what does 3 represent? 

A. Number of screens  

B. algebra  

C. Number of seats  

D. Model 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 126 

Ad hoc conference needn’t assign the conference number. 

A. True 

B. False 
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Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 127 

Mix is in fact to mix all the venue sounds. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 128 

Multi Resource Management Center supports at most ( ) venue management. 

A. 10000 

B. 256 

C. 100000 

D. 512 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 129 

What access type does MCU8650C support?( ) 

A. IP 

B. E1 

C. 4E1 

D. All of the above 

Correct Answer: A 

www.vceplus.com - VCE Exam Simulator - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - PDF Online

https://vceplus.com
https://vceplus.com


Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 130 

Accepts the terminal to initiate a gateway registration request, sending signaling is (). 

A. GRQ 

B. RRQ 

C. URQ 

D. ARQ 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 131 

Multi-resource Management Center can manage monitoring MCU and manage the venue. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 132 

H.239 call after establishing media connection, to transfer ( ) way media stream between two H.239 terminals. 

A. 1 
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B. 2 

C. 3 

D. 4 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 133 

HD terminal AUX interface has echo cancellation feature. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 134 

Users need to apply for a new license, what are the correct steps? ( ) (Choose 3 answers) 

A. project installation personnel in accordance with the unified template feedback "video license application form", at the same time with the original license file 

B. Huawei engineers according to the application form the contract number inside the template, check the contract number in the license information and 

production license file in detail 

C. engineering installation personnel will cover the new license file to the original file, validating license information after restarting the service 

D. Additional copies of the original documents to do a temporary license to use 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 135 

Superior MCU can have multiple subordinate MCU: subordinate MCU can also have multiple superior MCU. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 136 

What kinds of clients the MCU8660 face mainly? (Please choose 2 answers) 

A. Private network 

B. Operators 

C. Corporate customers 

D. High-end private network customers 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 137 

When the top gatekeeper give the confirmatory response of the address resolution request message, and also give the address analytical results; the singaling 

should be sent is ( ). 

A. GCF 

B. RCF 

C. LCF 

D. UCF 

Correct Answer: C 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 138 

Which of the following interfaces can transmit video and audio signals? 

A. DVI  

B. HDMI 

C. VGA 

D. S-video 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 139 

Which of the following way of upgrade does HD terminal support? (Choose 3 answers)  

A. Local Upgrade  

B. U disk upgrade  

C. Remote Upgrade  

D. Minimum system upgrade 

Correct Answer: ACD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 140 

H.239 transmit static graphic by the way of interpolating frames. 
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A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 141 

Immersive three-screen intelligence main scenario ( ) 

A. Ordinary Meeting Room 

B. Senior Management Office 

C. Professional Conference Room 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 142 

For MCU8660, can access at most ( ) road 8Mbit/s of IP venue? 

A. 64 

B. 256 

C. 1024 

D. 128 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 143 

HD terminal does not support remote control. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 144 

HD terminal will not be a conference call when the GK is in the absence of registration. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 145 

Node RAS information refers to the node ( ) (Select 3 answers)  

A. Registration  

B. License  

C. Status  

D. Call 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

www.vceplus.com - VCE Exam Simulator - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - PDF Online

https://vceplus.com
https://vceplus.com


QUESTION 146 

IP comparative advantage E1  

A. Bandwidth stable  

B. QOS guaranteed  

C. Data confidentiality, better security   

D. low cost, line can be shared  

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 147 

What is CIF's resolution?  

A. 352*288 

B. 50*50 

C. 1280*1080 

D. 704*576 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 148 

Uplink terminal functions: collection terminal for voice, data, video signal: Coding sent to the transport network. 

A. True 

B. False 

Correct Answer: A 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 149 

Which part of protocol does Q.931 belong to? 

A. H.225 

B. H.239 

C. H.245 

D. H.281 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 150 

MCU8650, MCU8660 and MCU8650C can be expanded by adding veneer. 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 151 

1080P, P represents 

A. Progressive 
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B. interlaced 

C. by vertical 

D. vertical interval 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 152 

Intelligence can only be done through the IP network forms 

A. True 

B. False 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 153 

Which of the Features of Intelligence technology is not included? 

A. Listen protests its position 

B. life-size 

C. Face-to-face 

D. Desktop flip a touch screen 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 154 

What is the resolution of 720P? 

A. 1024*720 

B. 1280*720 

C. 1280*1080 

D. 704*576 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 155 

In H.323, G.729 audio codec protocols 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 156 

( )defines between the call signaling (Q.931) and node and GK(RAS) 

A. H.225 

B. H.245 

C. H.239 

D. H.283 

Correct Answer: A 

Section: (none) 
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Explanation 

Explanation/Reference: 

QUESTION 157 

Video conferencing is a set of voice, images. 

Data in the integration of an interactive multimedia information business. 

A. True 

B. False 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 158 

Integrate H323 video conferencing system and SIP system need ( ) 

A. GW 

B. GK 

C. MCU 

D. Terminal 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 159 

Conference access number identify ( ) conference convened 

A. MRS 
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B. MCU 

C. GK 

D. GPU 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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